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Section 1

10 marks
Attempt Questions 1-10
Allow about 15 minutes for this section

Use the multiple-choice answer sheet for Questions 1-10

1 A particle is moving along a straight line.
Initially its displacement is x = 2, its velocity is v = 3, and its acceleration is a = 3.

Which of the following is a possible equation that describes the motion of the particle?
A. v=3+ln(x—1)

B. v'=6(x-3)
C. v:3+2005E
2

D. v=e 42

2 Which of the following is the primitive of j tan” x dx ?

You may assume that J tan® x dx = J tan” xsec’ x dx —J tan’ x dx .

tan’x tanx

A. tan’ x —tanx +x+ C B. T +x+C
tan x tan’ x
C. tan3x—T+x+C D. —tanx+x+C
3 A particle moving in a straight line obeys v* = —x” + 2x +8, where x is its displacement

from the origin in metres and v is its velocity in m/s.
Given that the motion is simple harmonic, what is the amplitude?

A. 27w metres
B. 3 metres
C. 8 metres
D. 9 metres



A mass of m kilograms falls from a stationary balloon at height # metres above the ground.

It experiences air resistance during its fall equal to mkv* where v m/s is its speed and k is a
positive constant. The distance, in metres, of the mass to the ground as it falls is x.

The acceleration due to gravity is given by g and the positive direction is taken to be upwards.
What is the equation of motion?

A. i=g-k’

B. ¥=g+hk’

Which of the following is an expression for f M dx ?
S+sinx

A. —SIn‘ 5+sinx‘+C
B. 51n| 5+sinx|+C
C. —sinx—51n| 5+sinx‘+C

D. sinx—51n| 5+sinx|+C

Which of the following is the complex number 4\/5 -4i?

in

A. 4e 6
st
B. 4e 6
C 8e 6
5w
D 8e ©



10

1 X

A student used a substitution in order to solve the definite integral J (1)
+eé
0

Which of the following shows the new integral, after the substitution is complete?

e rl

A. J L du B. L du
, (I+u) Jo(d+u)
1 1 re 1

C. J > du D. > du
o (I+u) J, (I+u)

Let I = J xsinx dx . Given also that [ = J (7 —x)sin(z — x) dx , which of the
0 0
following is the value of /?

A. T B.

o

Without evaluating the integrals, which one the following integrals is greater than zero?

s

P+ L
A. J c?sx dx B. J sin”' (x°) dx
_z X _z
i tan’ 1
X 2
C. J —dx D. J (x> —4)e™ dx
r X
- -1

Let P be a polynomial with real coefficients. If P(E) =2—1i, what is the value of P(z)?

A. 2—i
B. 1 —2i
C 2+i
D. 1+2i
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Section 11

90 marks
Attempt Questions 11-16
Allow 2 hours and 45 minutes for this section

Answer each question in the appropriate writing booklet. Extra writing booklets are available.

In Questions 11-16, your responses should include relevant mathematical reasoning and/or calculations.

Question 11 (15 marks) Use a SEPARATE Writing Booklet.

(a) z,=2+43i, z,=3+2i and z, = a+ bi, where a and b are real numbers.
(1) Find the exact value of |zl + 22| . 1
(i1) Find the exact value of Re(zlfz) 1
(i)  Given that w= 222 find w in terms of @ and b, 2
2

giving your answer in the form x + iy, where x and y are real numbers.

(b) Sketch on separate Argand diagrams

Q) | z+2i|=2 2

T
il arg(z)=— 2

(i) arg(z)=7
(i) | z+3i|=|z-i 2

(¢c) Letz2=4+4i.

(1) Find z and express it in the form a + ib, where a and b are real numbers. 2
(i1) If Z2w=2"— 22\/5 , find w and express it in modulus-argument form. 2
(ii1))  Ifiz is a solution to x” + k£ = 0, where k and » are positive integers, 1

find a possible value of 7.



Question 12 (14 marks) Use a SEPARATE Writing Booklet.

(a) Evaluate the following integrals:

3
9
i dx
() .,09+x2
(i) 1 p
11 X
./1X+\/;
rS
1+
(iii) X v
J2 x—1

(b) Find the primitive for the following real functions:
(1) xInx
1

i) (9-x7)

13—4x »
Qx+1)*(x+3)

(¢)  Find

3-4x 6 4 B
(2x+1)" (x+3) Qx+D* Q2x+D  (x+3)

You may use (Do NOT prove this.)



Question 13 (14 marks) Use a SEPARATE Writing Booklet.

(a)

(b)

(©)

(d)

A particle moves in simple harmonic motion.

Its equation is x = acos \/Et —2sin (\/Et + %J, where a e R.

This could be written as Acos(\/gt + 8) ,where £, AeR and 4 >0 (Do NOT prove this).
The particle’s maximum velocity is 2\/§ m/s. Find A4.
The side of a marquee is supported by a vertical pole supplying a force of F' newtons

and a rope with a tension of 120 newtons.
The tension in the marquee fabric is 7 newtons as shown below.

Not to scale

Marquee
FA Rope
pd 120N
Pole

Find the exact values of 7 and F.

The polynomial P is given by P(z) = z* — 223 + 1262* — 242z + 605.
(1) Given that (z — ki) is a factor of P, find k, where £ is a real number.

(i1))  Hence, or otherwise, state all the zeroes of P in cartesian form.

A particle 4 is projected horizontally at a velocity of 50 m/s from the top of a tower

which is 100 metres high.

At the same instant, another particle B is projected from the bottom of the tower, in the same
vertical plane at a velocity of 100 m/s with an angle of elevation of 60°.

Using the base of the tower as the origin, show that the particles will collide and find the
co-ordinates of the point where they do so.
The position vector of the particle, », from an initial point (4, k), at time ¢ is

2
r(t)= (Vtcos¢+ h)i+(—% + Vtsing + k]g , (Do NOT prove this)

where V' is the magnitude of the initial velocity and ¢ is the angle, with respect to
the horizontal, of the initial velocity.

Use g = 10 and give your answer to the nearest metre.

Question 13 continues on page 9



Question 13 (continued)

(e)

A Formula 1 testing vehicle of mass M kg is capable of a top speed of 360 km/h.

After it reaches this top speed, two different retarding forces combine to bring it
to rest:

) . 2 .
First, a constant breaking force of 3 M newtons due to the application of the brakes.

Second, due to a parachute released from the back of the vehicle, a resistive force of
My

newtons, where v is the speed of the car in metres per second.

After the vehicle has reached top speed both of the above forces are applied and the
vehicle eventually comes to a stop.

Show that the distance travelled, x metres, after the application of the two forces,
80+1007 j

2

is given by x =1001n
8 Y [ 80+v

End of Question 13



Question 14 (17 marks) Use a SEPARATE Writing Booklet.

24 x+l1

(a) Integrate e with respect to x.

(b) Using mathematical induction, prove that 1+ 1 +..+ 1 > 2—’11 ,
n n+

for n>2 and n is an integer.

() A particle is moving along the x-axis so that its acceleration after # seconds is given by
¥=4x(x>=3)

The particle starts at the origin with an initial velocity of \/E cm/s.

(1) If v is the velocity of the particle, find v’ as a function of x.

(i1)  Show that the particle remains at all times within the interval —1<x <1.

N

(d) Consider the integral / = J Lz
L ox(I+x7)

b
: . ) o du
(1) Using an appropriate substitution, show that / = J . ,
. tanu

stating the values for a and b.

(i1))  Hence show that [ = %(ln 3—In 2)

Question 14 continues on page 11

~10-



Question 14 (continued)

(e) In the Argand diagram below, two concentric circles have radii » and R, where r < R.
The centre, C, of the two circles is represented by the complex number ci.
The larger circle touches the real axis only once and that is at the origin.
The chord OB is tangential to the smaller circle.
OB makes an angle @ with the real axis.
Other points are marked for convenience if necessary.

In general, BD is NOT parallel to the imaginary axis.

Im(z)
A
E
B
C |
A"
41
0
> Re(z)
)
(1) Given that the equation of the region bounded by the two circles, inclusive

of the circles, is r <‘ z—c ‘ < R, write an expression for the complex number

at point B, in terms of 7, R and &, in exponential form.

(i1) Show that the complex number represented by D on the Argand diagram is

i0
V2R*—2rR xe?,

in terms of , R and @.

End of Question 14

11 -



Question 15 (14 marks) Use a SEPARATE Writing Booklet.

(a)

(b)

A triomino is an L-shaped tile made up of 3 one by one square tiles as shown below.
Use induction to prove that triominoes may be placed on a 2" by 2" square board in
such a way that there is only ever a single one by one square left uncovered.

The triominoes may not overlap.

Hint: consider the position of the uncovered square in each inductive step.

A vertical spring is attached to a ceiling in a room. A mass m kg is attached to the spring’s
other end and as a result the spring stretches by a distance / metres and reaches an equilibrium
position. The forces acting on the mass, which is not moving, are the gravity force, mg, and
the force of spring, k/, where k is a constant.

The mass is then pulled down by a distance 4 metres from the equilibrium position and then
released. The spring starts to move in simple harmonic motion.

Let x metres be the displacement of the mass at time ¢ seconds and the positive direction
measured in a downwards direction. The mass m at a distance x metres (x < A4 ) experiences,
while moving, a spring force k(/+ x) and the gravity force mg as shown.

[ _ - _~ \

(1) Show that the equation of the motion of the particle is X = _k X.
m

(i1) Given that x = A4 Cos(a)ot + a) is a solution of the differential equation in part (i),
show that

@y =, |—-
m

Question 15b continues on page 13

—12 -



Question 15 (continued)
(b) (continued)

The spring is placed, with a mass m, in a tube containing liquid and again, the mass is then
pulled down by a distance 4 metres from the equilibrium position and released.
The spring will move in damped simple harmonic motion.

The mass m at a distance experiences, while moving, a new resistance force
in addition to a spring force and the gravity force mg as shown below.

bx

_ -

(ii1))  Show that the equation of the motion of the mass is X+ ﬁx =0.

bt
(iv)  Given that x = 4e?" cos(a)lt +. is a solution of the differential equation in

part (iii) and that

o b L), Abw, 3 . hi
Ae?™ cos(wyt +¢) el L sin(wt+¢ (Do NOT prove this)

show that

Question 15 continues on page 14

13—



Question 15 (continued)

(c) Bernadette is about to skydive for the first time. The forces acting on her will be gravity (mg),
acting downwards which she assigns in the positive direction, and the air resistance is (R = kv?),
in the opposite direction.

Let Bernadette’s mass be m kg. Hence, m dv_ mg—kv?.

,m
(1) Show that Bernadette’s terminal velocity, v, = g .

(11) Given that the initial velocity is v,, show that

. mo VeV [ v =V, ’
2kv, v, =v )\ v, +v,

where v is velocity.

End of Question 15

— 14—



Question 16 (15 marks) Use a SEPARATE Writing Booklet.

(a) Show that there exist complex numbers z and w, such 1 + 1 = ! ,
z w z+w

where z, w # 0.

1

b Let I, = | cos*xdrand J = | ———— dx
() k J n J(x2+a2)11

| k-1
(i) Show that 7, = Zsmxcos"‘1 X+ cos  x dx .

(i)  Using a suitable substitution, show that J, = J cos" "0 do

2n—1
a
o T
(iii)  Hence or otherwise, give the exact value of | ———— dx.
o (x7+ %)

(c) The distinct complex numbers &, B and y represent the vertices of an
equilateral triangle in an Argand diagram, in order.

(1) Given the three complex numbers above, show that

o+ 2+ —(af+ay+pr)=0

(i1) Show that the roots of the equation
Z+az’ +bz+c=0 ()

represent the vertices of an equilateral triangle if a” = 3b.

(i)  Letz=pw + g, where p and g are complex numbers (p # 0).
Using z = pw + ¢ transforms equation (1) to

W+ Aw* + Bw+C =0. (2) (Do NOT prove this)
Show that if the roots of the equation (1) represent the vertices of an

equilateral triangle, then the roots of equation (2) also represent the
vertices of an equilateral triangle.

End of paper
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Sample Solutions

Quick MC Answers

1 A
2 D
3 B
4 C
5 D
6 C
7 D
8 A
9 C
10 C
NOTE: Before putting in an appeal re marking, first consider that the mark is not

linked to the amount of ink you have used.

Just because you have shown ‘working’ does not justify that your
solution is worth any marks.



2020 Y12 X2 THSC Multiple choice solutions

Mean (out of 10): 7.99

I, A Whkn3x=2

\1‘:3‘-1#-\.'

=3
%= L

=348 (x-)) oy

A Wl v o Bl >
(V8]

111

whex=2' 2= 3.1

=3\

3 artz — P2 S

x §-(zt-2xt1)

= - (x-0)"

2 A—;-rv}sh’mal&. & & @

B nen x=2 == Y
3T
C  Whin =2 ~=3t2co "3
=8+ 25 ~f
= o
2z V4L -
- 2 pat
=(e*" +2)7¢

A 1
B 101
C 13
D 3
e g e

o o Wl v
Oy

e

= f‘!ﬁh‘rldnﬁ_

..... ,:vivf ft~ X cectrdie ~a/f‘ﬁn71r_t{zsc-

= Ttan e — flsec? 1)

- ‘Jf;f{'-ﬁn%)c -tBn 2 Xt

Y.

—

26

84

O 6| m| P




- / sine cofXdre gk i,

J — -
T4 Sinx A = ol v

- [’ W

IS

=Y 2
Y v

ST

= Jede = 5 Lo fstn] te

= A-§ do]stu] tc

= SAY. — S‘L‘\{Sf-ﬂhr'lx“\'(—

- I” e dre. betu=e

Ve Lj+£,‘w“) dpL:gxabg__
_ ']:Px=‘c; mef
= /d'.f_d"’t___-——-7 =) U=€
Vi TER) d

7>}
N

(@D
A 0
B 2
C 9
D 107

e, 43 —4¢

= 8(%-%9

= g ( el ["Z‘I—)T—i S‘i‘n(‘%) ’)

1o

A 10
B 0
& 1
D 107

e
(4

& L& [;, . Sim de Al

i Jf( T -3) 5 (W—x) alx

= [, sinedy ~f, X sinvde.

i == {-C-a.['xg

= ?’2.’.‘6 7¢.)
-
A 3
B 0
C 113
D 2

g — /“\)‘
N
A 95
B 16
C 5
D 2




1. A Weal>) o - 1tewx 0. Lok Px) = Gnx tn-® #—. 4+ 4% the

(—»)? x3

ST

-\ _ = = &5
V(})-.an; b1 to-18,3 Ho
. ODD FudcTlow

L NTERME = X = 5 dedleng ™ e bgp bty
i 3 - 1S | - =
8 sin(-x)" = sin (-x%) F(})
= —35in 5 : :
a-t= Pl3)
- ODH  Funten g [/
SR O e B o) = 2r i Ze
/£ e

(o5 hrj‘(’"’«) = ‘."'ﬁ-.v\s-m-

(’30)',“ -
3
- E—ﬁ:y_x. A 73
< Ve Fusciion B 7
IS TELRAL. 2> O \/ C 82
D (b -4 &Y ) Z 6

J L EVEN  pussemon

Howizver, for —l&x <]

—wr /
(x*=%)e"" <0

L inTEClAe 4 © X

(St

A 19
B 3
C 64
D 32




Queshon Il

(@) 2,= 2430, Z2,=3+2 and z,= a+bl
U) |z, +%z\ |
Zi+ %, = 2430+ 34
54 5¢
5450
{52452

Ho

Nzt 7,

W nmuun n 1

iy Re (E\Z,)

= bt + i - bi?
= '?- +50
o RelzZ) =
([ W=2Z 2y
EXT
= (2430) (a4 bi)
(32+20)

= (2a+ 2bt + 3l 3bi*) (3-21)
(3+20)(3-20) | ,
=60 +hbi +gal ~4b-4al+ kb + ba = bbt
3
=12a-5b + (12b4 5at
12 13




Comments:
Generally, very well done.

N

T Re(?)

arqg (2) ='T_GL B

| s'l‘l.:e,(:e\




£ “7Rel(2)
-\
< ‘j = —
-3+
v
Comments:

Parts (i) and (i1) generally, very well done.
In part (ii1), candidates incorrectly evaluated the modulus.

() 2F=H+41 |
(1) Let z=a+bl | where q bel

Z2=Q% 4+ 20bt + b‘-L’-.
=al- b +(2ab)t

St aL= (a.’-—b’-) +(2ab)L
Equating real and imaginary parts

at-brt =4 QO 20b’= 4
also (a*+b)r = (ar -b?) + (2ab)*
= B4yl

=32




© o+l = rz
| =457
a,beR .. a* %0, b0 and a*+b® 30

al+b1 = W7 3

R +O: 20t = 4li+ 4
a*= 23242
a =201+ 2

@A -~-0O: 2brt=4i1-4
br= 22-2

b =*{22-2
From @) Zab =% , ab>0

a and b have the Same Sign
a = h&ﬂ. b=l-2

"a =J7%2+1, b=-{f1i2

(i) zZ*w=22-EF*)3

(d+4t)w = (W45 - (% - Hi)]3
(+ Vw= O +)- (-3
(Tt Dw = (-3) ¢ (14)L
w= (1=32)+ L+ B)(
|+ L
1= -(1-B)i+ (4B - 1+ B
1"+ \*

= 2 4+ 255
2

Fl




T
] w\zlz\“r =)
arg(w)=tan"({3)

V] (cos (Z) £1SIN (%\\ |

(i) Zt= 444 :
2] = Uty
* = 47
arq (z*)= arg (4 +40)

=% (first q})\adran‘f)

e Ume)
21 = 442
z = tlufg U o
when 2 = 1887, e¥M®) (pne value of n)

iz = {5 etV



&L’ZY‘ Ty1. (Q&Ws))
'(&) =0, (iz2)*=-k where kez

( 2\“ ..., 25:\/4 ( L(gh'“'/S))

\ %_n, =k, M= Jm, Lez)
o Sn= kL BATL =8mTL
‘when n=¢%

Comments:
Parts (i) and (i1) generally, very well done.
In part (ii1), very poorly done.




 CommenT:  Given 4k iy on dre reference cheet
Showld be am easy 2 marks whoch F owae B mosf,,

i a) f’ - = A T
f \F (\S_ +i)

= ?’f \r:zf ) OLZ

2 Lln e+ | \]
_ 2 [ln,lﬁﬂ\jé rH\}

(ommEenT: A subettidbion coudd howe beon *_@é&, o
Font'ad ‘p’ko\gj‘l‘Ol/\S s not o 3000( dea . :
 Dependihg o e metnod Utod Hhe amgwes
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. dk = Zw_s&
a5

= ;@50&@' N

COM/LMEN'T

 Students shoudd mwgme WLM . 5%%4«&6%
The prmibive needs fo e n *C«Nv\di‘ov\ of
amnd stewdd ba Staplified (wot just F"dd“\’:S
Sy <’(> R U e R l5> ’ R







emee A =% Hraoe ey}t COV\APLQXV\WWS 24\
(fer wnchamce z= -L+80 & w=1)  suen Mot

2 12N Zt A

CommenT s Meost studank 5"“’\/\3@\&& wi .
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Queshon 13
(@) X = A cos ({2t 1), where A*= CEP
= -J2A sin (ﬁt +l\

AT =218
AdL= {20
LA*= 20
Al=
A=+Jlo0 but A>O

L A=Jl0

Comments:
Generally, very well done.

Lb) VQF‘\'\CO\Utj : F s TCDS L\_S = 120 cos 300
F o+ %LL bof‘ |

Hor\ior\‘ra\hj T sin 45° = 120 sin 30°

I =060
{1
| o T= 002
F+b0=,L0
F =60J2 - b0
o F =603 )

Comments:
Generally, very well done. However, many students incorrectly calculated the exact values.




Q) P(z)=2%-223+12b22-2422 +b05
(i) P(K’L) (RUY = 2(R1Y® + 126(RUY =142 (kL) + 605
R* + ?_\Q%—— 126 R - 242 kL +b05=0

kY -~ 126k +605=0 or 2k® - 242k =0

Co 2R3 -242R =0
2R (R*-121)=0
"R=0 or k%= (2|

R =2

P - X 12b 4+ 605 = 12! X-5 + 605
=0 |
JokR=2 L
2 ZEroS oare Wi —\\L
(1) Let the other 2 roo‘rs be A and g

A+ UL+ (A1) =2
X+p =L

o B INLEULY) = 605
- Ll p b0S
Xp =5
o (x4B)Z2 +xB =0
-2z +5 =0

oy

e A A T




I
N
(4
-
c

1"
~
P
|+
~
L

" the zeros are Wi -HE 1420 and =20

Comments:
Generally, very well done. However, some students the second 2 zeroes.

() » For parficle A:
U, = —g_t__"-'c 50t sin 0° + 100

---—q%_l 100

X, = 504.¢08 0°+ 0
= 50t

* For parncle B:
Yg = -—_gi:_l- + 100t Sin LO°4+ O

=~g.-L + 1003 €
L r
= -9t + 5073t

1

00t cos 60+ 0
50¢

it u



.. The 1 parhcles have the same x

coor dinate . .
For the particles to collide y, =y,

-9t +100 = -gt™* + 5083t
L 2

100 = 50J3 ¢
t = 2
\E)
L= 50 2 = -10.[2\* + 100
SR EO(@\
= 10043 2
-3 = 130
~Hh% m -
& 13w

- they collide at (5%,93).

Comments:
Poorly done. Many students incorrectly calculated the exact values, or used an incorrect

value for z.




(&Y F=mXx
A =-2 -v+
b 200
=~ 30 +v?
R 200
Vadv =~ 80 4+ y?
- aX 200
XX_Q\_\L-'-‘-—__L jdx
TOHVE 200

=-{ 14+

1 \h‘%O-\'V"
L 200

when X =0, v=1000

Jo X =4 1n [30+ 100* |
20 2

~L In|80+v2|
2
A = 100 In \@ +,\003k
S0+ vl

Comments:
Generally, very well done.




Question 14

Solution Marking Marker’s Comments
Scheme
a) Let 1 mark for - Candidates who
u=-x+1 correct used the right
du 1 substitution substitution
—= or tend to correctly
dx  2x+1 equivalent. answer the
2\Nx+1 du=dx question
2w du = dx 1 mark for cqrreptly.
correct use - Significant
of number of
I e dx = J. e (2u)du integration candidates made
by parts. error with
integrating by
J‘ezu (2u) du = 2u lezu _ J‘2 9 leZu du 1 mark for parFs sectign of
2 2 correct their working.
— et — J.ezu du answer.
2u 1 2u
=ue™ ——e" +C
2
1
J‘ez*/m dx =[x +1e2 - Eezm +C
b) Prove true for n =2 1 mark for - Majority of the
1 3 correctly candidates were
LHS =1+ D) proving able to prove
statement is the n =2 case
true for n = correctly.
2(2) 4
RHS = % =— 2. -  Many
+1 3 candidates were
. 2 marks for not able to gain
slnce I%HS >_I§HS correctly full marks for
- true forn = proving the proving the case
' statement is forn=+k+1.
Assume the statement is true for n =k where ke Z", k>2 true for n = _ Candidates need
L 2k k+1. to prove strictly
k k+1 one side is
To prove true forn =k + 1 greater than the
e 1 1 1 1 2k+2 other side with
e l+—+...+—+——>
2 ko k4l k+ 2 REASONING.
2% 1 Marks were not
LHS> —+ — (From Assumption) given if
k+1 k+1 candidates fail
to do so.

(SEE NEXT PAGE)




2k +1
C k+1
(Ck+1)(k+2)
C (k+1)(k+2)
2k +5k+2
C(k+1)(k+2)
2k +4k+2+k
(k+1)(k+2)
_ 2k +2)(k+1) N k
(k+D)(k+2) (k+1)(k+2)
_Qk+2)  k
k+2  (k+1)(k+2)

where k > 2 i.e. (k+2)#0

- Candidates did
not gain full
marks by just

stating
2k+1>2k+2
k+1 k+2

for k> 2. More
details were
needed to
explain the
statement
above.

- Candidates
should avoid
proving both

k sides of the
> RHS As Gt 0for k22 inequality at the
same time.
sotrueforn=k+1
By the principle of Mathematical Induction, the result is true for
all positive integers n > 2.
) 1) - Majority of the
d(1, 3 1 mark for candidates did
o Rl e correct well in this
) working. question.
—v’ = J.4x3 —12x dx
2 1 mark for
1
“V=x*—6x*+C correct
2 answer
Atx=0,v= \/E
5=C
svi=2x —12x7 +10
1 mark for - Significant
i1) correctly number of
working out candidates made
Vv =2(x* —6x* +5) the correct a silly mistake
a2 5 intervals for x’=5
=20 =35 et | x for which s
=2(x- - v >0 T
Z(X ﬁ)(x+ \/g)(x 1)(x+1) eqlziva(l)ernt And use that to
Forv’20:x<—-+50r—-1<x<1orx>+/5 solution explain their result.
Marks were penalised.
As v? > 0 and the particle starts at the origin, it must remain 1 mark for o
within the interval -1 <x <1 or it will reach negative for °. stating the - ThisisNOT
particle SHM, check
starts at the equation.
origin and Candidates were
is bounded penalised for
by the saying it was.

region.




The information
that the particle
starts at origin
is important and
must be stated
clearly in the
solution to

support their
reasoning.
d) 1) 1 mark for
correct Majority of
let x =tan u substitution candidates did
dx , and well in this
—=sec u i i
an working. question.
dx =sec’ u du 1 mark for
x=1~3 finding
correct

-

-[:

4

4

T

1

w 2
J~5 sec” u

T 2N
o tanu (sec” u)

3ooodx

x(1+x%)
sec’ u
tanu (1+tan” u)

du

du where a = z and b=
tanu 4

T

3

values for a
and b.

4
i1)
4

3

z
4

=[In

cotu du

coSu

du

sinu

(sin u)]g

-nfsn(2) ()

=In

=In

=In

2oLy
ﬁ;l]
2 2
2)

N

() ()

1!
2

(In3-In2)

1 mark for
correct
integration.

1 mark for
showing
ALL
necessary
working to
achieve the
result.

Candidates were
penalised for
not showing all
necessary steps.
Since itis a
SHOW
question,
candidates need
to provide every
step, not assume
the marker’s
will follow
through with
shortcuts.

Some
candidates did
not how to
integrate cot u
which is a
concern.




e) 1 mark for Many
1) Let a be the complex number at point B the correct candidates did
. a=ke” where k =|OB| answer not attempt this
OB is a chord in a circle of radius R (given) question or did
CA is perpendicular to OB (tangent perpendicular to radius) not get the
CD bisects OB (radius to chord bisects the chord) mgdulus at
OB =2 % OA point B correct.
.. OC?= CA? + 0A* (Pythagoras’ Theorem)
OA=.0C* - C4>
= R> —r?
- OB=2\R* -1
a=23R—r*e”
Majority of the
i) 1 mark for candidates did
|DC| = R and DC has an angle of depression of showing not do well in
how the this question.
_(1 _ 9] from point C. modulus is Whilst many
2 derived. candidates did
not attempt this
Then let D be represented by the complex number y 1 mark for question, many
_,-(,_gj how the candidates
y=iR+Re *? argument is “fudged” their
,.( P _gj derived. result by
e' * =sinf—icosd starting from
. . the end or
y =R((sin 6 +i(1-cos0)) howed
|;/| = R\/(sin 0 +i(1-cos@)(sinf+i(cos@—1) minimal
working to
= R\/sin2 0 —2cos@+cos” 6 +1 verify the result.
= R\2(1-cos ) Marks were
penalised for
=2R*(1-cos ) lack of logical
working to

But from the diagram cosé = %

2(R2—Rr)
Let Arg(y)=tang (1)
1—cos@

Arg (}/ ) = o (From diagram)

sin? ¥+ cos” 2~ cos? L —sin? 0)
2 2

2singcos—
2 2

2sin’ L4
2

. 0 0
2sin—cos—
2 2

0
an2 ()

(Using half angle)

verify the result.




Equating (1) and (2)

0
=3
i0

Sy =+2R*-2Rr e?
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* A diffient qutstion, very georly done .
© was quarded € stude
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N Case N ia dae tocner, A half-war\e v not
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